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 1.   The test is of 70 Minutes duration and this Test Booklet contains 60 questions. 

       Each  question carries 4 marks. For each correct response, the candidate will get 4  

       marks. For each incorrect  response, one mark will be deducted from the total scores.  

      The maximum marks are 240. 

 2.  Use Blue/Black Ball Point Pen only for writing particulars on this page/ marking    

      responses. 

 3.  Rough work is to be done on the space provided for this purpose in the Test Booklet  

      only. 

  4. On completion of the test, the candidate must hand over the Answer Sheet to the 

      Invigilator before leaving the Room/Hall. The candidates are allowed to take away  

      This Test Booklet with them. 

  5. The candidates should ensure that the Answer Sheet is not folded. Do not make any    

       stray marks on the Answer Sheet. Do not write your Roll No. and name anywhere    

       else except in the specified  space in the Test Booklet/Answer Sheet. 

  6.   Use of white fluid for correction is not permissible on the Answer Sheet.  
           

 Name of the Candidate (in Capitals)     ……………………………………………………… 

                                  

Roll  Number : in figures ……………………………………………………. 

                          : in words  ……………………………………………………. 

 

 

Candidate’s Signature :                                                          Invigilator’s Signature : 
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  Part – I (Physics) 
1. The acceleration of a moving body can 

be found from :- 

(1) Area under velocity – time graph 

(2) Area under distance – time graph 

(3) Slope of the velocity – time graph 

(4) Slope of distance – time graph 

2. A particle moves along a semi circle of 

radius 5m in 5 second. The average 

velocity of the particle is :- 

(1) 2π 
m

s
    (2) 4π 

m

s
     (3) 4

m

s
      (4) 2

m

s
 

 

 

 

 

 

 

 

1. xfr'khy fi.M dk Roj.k Kkr fd;k tk ldrk 

gS :- 

(1) osx & le; xzkQ ds chp esa {ks=Qy ls          

(2) nwjh & le; xzkQ ds chp esa {ks=Qy ls      

(3) osx & le; xzkQ ds <ky ls        

(4) nwjh & le; xzkQ ds <ky esa 

2. ,d d.k 5 ehVj f=T;k ds v)Zo`Ùk esa 5 lSd.M 

esa ?kqerk gS d.k dk vkSlr osx gksxk :- 

(1) 2π 
m

s
    (2) 4π 

m

s
    (3) 4

m

s
     (4) 2

m

s
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3. The numerical ratio of displacement to 

the distance covered is always. 

(1) Less than one  

(2) Equal to one 

(3) Equal to or less than one   

(4) Equal to or greater than one 

4. A man goes 6m towards north, then 8 m 

towards east then displacement is :- 

(1) 24m                (2) 10m      

          (3) 14m                (4) 30m 

5. The ratio of the numerical values of the 

average speed and average velocity of a 

body is always :- 

(1) Unity                     (2) Unity or less 

(3) Less than unity     (4) Unity or more 

6. A particle is constrained to move on a 

straight line path. It returns to the 

starting point after 10 second. The total 

distance covered by the particle during 

this time is 50m. Which of the following 

statements about the motion of the 

particle is false :- 

(1) Average speed of the particle is 

5m/s. 

(2) Displacement of the particle is 50m. 

(3) Displacement of the particle is zero 

(4) Both (1) and (3) 

 

 

 

 

 

 

 

 

 

3. r; fd;s x;s foLFkiu ,oa nwjh ds vuqikr dk 

vkafdd eku ges’kk gksrk gS :- 

(1) ,d ls de          

(2) ,d         

(3) ,d ds cjkcj ;k ,d ls de             

(4) ,d ds cjkcj ;k ,d ls vf/kd 

4. ,d O;fDr 6 ehVj mÙkj dh vksj rRi’pkr 8 

ehVj iwoZ dh vksj pyrk gSA mldk foLFkkiu 

gksxk :- 

(1) 24m    (2) 10m   (3) 14m  (4) 30m 

5. fdlh oLrq ds fy;s vkSlr pky rFkk vkSlr osx 

ds la[;kRed ekuksa dk vuqikr lnSo :- 

(1) ,d         (2) ,d ds cjkcj ;k ,d ls de            

(3) ,d ls de   (4) ,d ds cjkcj ;k ,d ls 

vf/kd 

6. ljy js[kk esa xfreku ,d d.k 10 lSd.M 

i’pkr izkjfEHkd fcUnq ij okil ykSV vkrk gS 

;fn d.k }kjk bl le; esa dqy 50 ehVj dh 

nwjh r; dh xbZ gks rc d.k dh xfr ds fy, 

dkSulk dFku vlR; gksxk :- 

(1) d.k dh vkSlr pky 5 ehVj@lSd.M gS     

(2) d.k dk foLFkkiu 50 ehVj gS      

(3) d.k dk foLFkkiu 'kwU; gS    

(4) 1 rFkk 3 nksuksa 
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7. A train has a speed of 60 km/hr for the 

first half hour and 40 km/hr for the next 

half hour. It’s average speed in km/hr. 

(1) 50 km/hr               (2) 53.33 km/hr     

(3) 48 km/hr               (4) 70 km/hr\ 

8. An athelete completes one round of 

circular track of radius R in 20 second. 

What will be his displacement at the end 

of 2 minute 20 second. 

(1) 0        (2) 2R    (3) 2πR    (4) 7πR 

9. A car travels the first half of a distance 

between two places at a speed of 20 

km/hr and the second half of the 

distance at 30 km/hr. The average speed 

of the car for the whole journey. 

(1) 25 km/hr               (2) 24 km/hr     

(3) 50 km/hr               (4) 30 km/hr 

10. A motor car moving with a uniform 

speed of 10 m/s comes to stop on the 

application of brakes after travelling a 

distance of 5m. It’s acceleration is :- 

(1) 10 m/s
2
               (2) -10 m/s

2
      

(3) 20 m/s
2
               (4) -20 m/s

2
 

11. A body is moving with a velocity of 10 

m/s. If the motion is uniform what will 

be the velocity after 10 seconds ? 

(1) 10 m/s       (2) 100 m/s    

          (3) 5 m/s         (4) 50 m/s 

 

 

 

 

 

 

 

 

 

7. izFke vk/ks ?kaVs rd fdlh Vªsu dh pky 60 

fdeh-@?kaVk rFkk vxys vk/ks ?kaVs rd 40 fdeh-

@?kaVk jgrh gSA lEiw.kZ ;k=k esa Vªsu dh fdeh-

@?kaVs esa vkSlr pky gksxh :- 

(1) 50 km/hr               (2) 53.33 km/hr     

(3) 48 km/hr               (4) 70 km/hr 

8. ,d f[kykMh R f=T;k ds o`Ùkkdkj iFk esa ,d 

iw.kZ pDdj 20 lSd.M esa yxkrk gSA 2 feuV 

20 lSd.M i’pkr bldk foLFkkiu gksxk :- 

(1) 0                    (2) 2R     

           (3) 2πR              (4) 7πR 

9. ,d dkj nks LFkkuksa ds chp dh izFke vk/kh nwjh 

20 fdeh-@?kaVs dh pky ls ,oa 'ks"k vk/kh nwjh 

30 fdeh-@?kaVs dh pky ls r; djrh gS rks 

lEiw.kZ ;k=k ds fy, dkj dh vkSlr pky gS %& 

(1) 25 km/hr              

           (2) 24 km/hr     

(3) 50 km/hr            

          (4) 30 km/hr 

10. 10 eh-@lS- ds ,d leku osx ls xfreku ,d 

dkj czsd yxkus ij 5 ehVj nwjh pydj fojke 

esa vk tkrh gSA Roj.k gS :- 

(1) 10 m/s
2
           (2) -10 m/s

2
   

          (3) 20 m/s
2
           (4) -20 m/s

2 

11. ,d d.k 10 eh-@lS- ds osx ls xfr’khy gS] 

;fn xfr ,d leku gS rks 10 lSd.M ds ckn 

d.k dk osx gksxk :- 

(1) 10 m/s        (2) 100 m/s     

          (3) 5 m/s           (4) 50 m/s 
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12. From rest, a car accelerated at 8 m/s
2
 for 

10 seconds. What will be the velocity 

after 10 seconds ? 

(1) 50 m/s              (2) 40 m/s   

           (3) 80 m/s             (4) 100 m/s 

13. A particle is moving in a circle of 

diameter 2m, then what would be the 

distance and displacement when it 

completes 2 revolutions ? 

  (1) 4π, 2π         (2) 2π, 0    

   (3) 4π, 0          (4) 0, 2π 

14. A car travels along a straight road 50m 

east then 30m west. What will be the 

distance and displacement of the car ? 

(1) 80m, -30m               (2) 50m, -20m    

(3) 80m, 50m                (4) 80m, -20m 

15. A car travels with speed 30km/hr for 30 

minutes and then with speed 40 km/hr 

for 30 minutes. Then what would be the 

distance covered by the car ? 

(1) 70 km           (2) 35 km      

 (3) 50 km          (4) 25 km 

16. A cyclist covers a distance of 50m in 5 

second. Then what will be the speed of 

the cyclist in km/hr ? 

(1) 18km/hr         (2) 50 km/hr   

 (3) 10 km/hr       (4) 36 km/hr 

 

 

 

 

 

 

 

 

 

12. fojke voLFkk ls ,d dkj 8 m/s
2
 ls 10 

lSd.M ds fy, Rofjr gqbZ gS rks 10 lSd.M ckn 

dkj dk osx D;k gS \ 

(1) 50 m/s           (2) 40 m/s    

 (3) 80 m/s         (4) 100 m/s 

 

13. ,d d.k 2 ehVj O;kl ds o`Ùk esa ?kwe jgh gS 

tc og 2 pDdj iwjk djrk gS rc mldh nwjh 

o foLFkkiu dk eku D;k gksxk \  

 (1) 4π, 2π             (2) 2π, 0     

  (3) 4π, 0             (4) 0, 2π 

 

14. ,d dkj lh/ks iFk ij 50 ehVj iwoZ esa rRi’pkr 

30 ehVj if’pe esa pyrk gS rks dkj }kjk r; 

dh xbZ nwjh o foLFkkiu dk eku D;k gS \ 

(1) 80m, -30m               (2) 50m, -20m    

(3) 80m, 50m                (4) 80m, -20m 

15. izFke 30 feuV esa dkj dh pky 30 fdeh-@?kaVk 

rFkk vxys 30 feuV rd 40 fdeh-@?kaVk jgrh 

gS rks dkj }kjk r; dh xbZ nwjh dk eku gksxk 

:- 

(1) 70 km            (2) 35 km    

           (3) 50 km           (4) 25 km 

16. ,d lkbfdy lokj 5 lSd.M esa 50 ehVj dh 

nwjh r; djrk gS rks fdeh-@?kaVs esa lkbfdy 

lokj dh pky dk eku D;k gksxk \ 

(1) 18km/hr        (2) 50 km/hr  

           (3) 10 km/hr      (4) 36 km/hr 
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17. With an initial velocity of 18km/hr, a 

car accelerated at 8m/s
2
 for 10 seconds. 

What will be the position of the car after 

10 seconds ? 

(1) 450 m        (2) 500 m     

           (3) 455.5 m     (4) 400 m 

18. The unit of acceleration is :- 

(1) Meter (m)     (2) meter/second (m/s)        

(3) meter / (second½
2
   

m

s2
      

 (4) meter x second (m x s) 

19. Which of the following statement is 

incorrect ? 

(1) The unit of distance is metre. 

(2) Displacement is a scalar quantity. 

(3) The unit of displacement is metre. 

(4) Speed is a scalar quantity. 

20. Which among the following statement is 

correct ? 

(1) The unit of velocity is metre. 

(2) Acceleration is a scalar quantity. 

(3) Distance is a scalar quantity. 

(4) Velocity is a scalar quantity. 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

17. 18 fdeh-@?kaVk ds izkjfEHkd osx ds lkFk ,d 

dkj 10 lSd.M ds fy, 8 ehVj@¼lSd.M½
2
 ls 

Rofjr gksrh gS rks 10 lSd.M ds ckn dkj dh 

fLFkfr D;k gS \  

(1) 450 m           (2) 500 m    

          (3) 455.5 m        (4) 400 m 

18. Roj.k dk ek=d gS %& 

(1) ehVj (m)        (2) ehVj@lSd.M (m/s)        

(3) ehVj@¼lSd.M½
2
   

m

s2
     

  (4) ehVj x lSd.M (m x s) 

19. fuEufyf[kr esa ls dkSulk dFku vlR; gS %& 

(1) nwjh dk ek=d ehVj gSA     

(2) foLFkkiu ,d vfn’k jkf’k gSA     

(3) foLFkkiu dk ek=d ehVj gSA         

(4) pky ,d vfn’k jkf’k gSA 

 

20. fuEufyf[kr esa ls dkSulk dFku lR; gS :- 

(1) osx dk ek=d ehVj gSA        

(2) Roj.k ,d vfn’k jkf’k gSA         

(3) nwjh ,d vfn’k jkf’k gSA              

(4) osx ,d vfn’k jkf’k gSA 

Rough Work 
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Part – II (CHEMISTRY) 
21. One day is equal to :- 

(1) 24 x 60 x 60s         (2) 24 x 60s        

(3) 24 x 50 x 60s        (4) 24 x 100 x 60s 

22. The unit of lumineous intensity is :- 

(1) mole                (2) kg        

           (3) candela           (4) ampere 

23. How many significant figures are in 

0.0005 ? 

(1) 1         (2) 2        (3) 3            (4) 4 

24. The number of significant figures in 

1.0001 are. 

(1) 1         (2) 2         (3) 4           (4) 5 

25. Add (0.001 + 0.02) upto correct number 

of significant figures. 

(1) 0.021             (2) 0.02     

 (3) 0.003            (4) 0.001 

26. The multiple 5 x 0.2 after rounding off 

will be :- 

(1) 1                     (2) 1.0        

 (3) 1.00              (4) 1.000 

27. Round off 0.1525 upto three significant 

figures :- 

(1) 0.153               (2) 0.152    

(3) 0.16                 (4) 0.15 

28. Round off 0.1576 upto one digit after 

decimal :- 

(1) 0.1            (2) 1.0 x 10
-1

     

(3) 0.2            (4) 1.6 

 

 

 

 

 

 

21. ,d fnu esa gksrs gSa :- 

(1) 24 x 60 x 60s     (2) 24 x 60s        

(3) 24 x 50 x 60s     (4) 24 x 100 x 60s 

22. T;ksfr rhozrk dk ek=d gS :- 

(1) mole             (2) kg         

 (3) candela       (4) ampere 

23. 0.0005 esa lkFkZd vad fdrus gSa ? 

(1) 1         (2) 2        (3) 3            (4) 4 

 

24. 1.0001 esa lkFkZd vadksa dh la[;k gS %& 

(1) 1         (2) 2         (3) 4           (4) 5 

25. (0.001 + 0.02) dk mi;qDr lkFkZd vadksa rd 

;ksx djsa %& 

(1) 0.021               (2) 0.02     

 (3) 0.003               (4) 0.001 

 

26. lfUudVu ds ckn 5 x 0.2 dk xq.kuQy gksxk 

:- 

(1) 1            (2) 1.0       

           (3) 1.00      (4) 1.000 

27. 0.1525 dk rhu lkFkZd vadksa rd lfUudVu 

dhft;s :- 

  (1) 0.153         (2) 0.152  

  (3) 0.16          (4) 0.15 

28. 0.1576 dk n’keyo ds ckn ,d vad rd 

lfUudVu dhft;sA  

(1) 0.1           (2) 1.0 x 10
-1

    

 (3) 0.2          (4) 1.6 
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29. The value of 
5.86 x 3.96

2.86
 will be equal to :- 

(1) 8                    (2) 8.1        

 (3) 8.11             (4) 8.113 

30. The law of conservation of mass is valid 

for all the following except. 

(1) All chemical reactions      

 (2) Nuclear reactions          

(3) Endothermic reactions    

           (4) Exothermic reaction 

31. Cu forms two oxides cuprous and cupric 

oxides, which law can be proved by the 

weight of Cu and O ? 

(1) Constant compositions  

           (2) Multiple proportions  

(3) Reciprocal proportions     

 (4) Definite proportions 

32. Gay Lussac’s law is not valid in the 

chemical reaction. 

(1) H2(g) + Cl2(g)  2Hcl(g)        

(2) 3H2(g) + N2(g)  2Nh3(g) 

(3) 2So2(g) + O2(g)  2So3(g)      

(4) CaCo3(s)    D    Cao(s) + Co2(g) 

33. Carbon and oxygen react in ratio of 3 : 8 

by mass to form CO2. What weight of 

carbon should be used to react 

completely with 32 gm of oxygen ? 

(1) 10g      (2) 15g      (3) 12g     (4) 7g 

 

 

 

 

 

 

 

 

 

29. 
5.86 x 3.96

2.86
 dk eku gksxk :- 

(1) 8                 (2) 8.1       

          (3) 8.11             (4) 8.113 

30. nzO;eku laj{k.k dk fu;e fdlds vfrfjDr lHkh 

ds fy,s ekU; gksrk gS %& 

(1) lHkh jklk;fud vfHk-      

          (2) ukfHkdh; vfHk- 

(3) Å"ek’kks"kh vfHk-          

          (4) Å"ek{ksih vfHk- 

31. Cu nks vkWDlkbM D;qizl vkSj D;qfizd vkWDlkbM 

cukrk gSA Cu o O ds Hkkj }kjk dkSulk fu;e 

fl) gks ldrk gSA 

(1) fLFkj la?kVu        

           (2) xqf.kr vuqikr 

(3) O;qRØe vuqikr      

          (4) fuf’pr vuqikr 

32. xS & yqlsd dk fu;e dkSulh jklk;fud 

vfHkfØ;k ds fy;s ekU; ugha gSa %& 

(1) H2(g) + Cl2(g)  2Hcl(g)        

(2) 3H2(g) + N2(g)  2Nh3(g) 

(3) 2So2(g) + O2(g)  2So3(g)      

(4) CaCo3(s)    D    Cao(s) + Co2(g) 

33. dkcZu vkSj vkWDlhtu 3 : 8 ds nzO;eku vuqikr 

esa fØ;k djds CO2 cukrs gSaA 32 gm 

vkWDlhtu ds lkFk iw.kZ :i ls fØ;k djus ds 

fy;s dkcZu dk fdruk Hkkj iz;qDr gksuk pkfg;s 

\ 

(1) 10g    (2) 15g    (3) 12g     (4) 7g 
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34. When 200g of lime stone is strongly 

heated it undergoes thermal 

decomposition to form 112g of lime and 

unknown mass of carbon dioxide gas as 

:- 

CaCo3           Cao + Co2 

        200g                 112g    ? 

(1) 88g    (2) 24g      (3) 64g       (4) 40g 

35. Element x forms five stable oxides with 

oxygen of formula x2o, xo, x2o3, x2o4, 

x2o5. The formation of these oxides 

explains. 

(1) Law of definite proportions  

(2) Law of partial pressures         

(3) Law of multiple proportions       

(4) Law oof reciprocal proportions 

36. 0.00186 is written in three significant 

figures with scientific notation as :- 

(1) 1.86 x 10
-3

            (2) 186.0 x 10
-5

       

(3) 18.6 x 10
-4

            (4) 1.860 x 10
-3

 

37. 28g of N2 and 6g of H2 react to give 34g 

of NH3. This statement illustrates the 

law of :- 

(1) Conservation of mass         

(2) Definite proportion 

(3) Multiple proportion            

(4) Reciprocal proportion 

 

 

 

 

 

 

 

 

 

34. tc 200g pwus iRFkj dks rst xeZ fd;k tkrk gS 

rks bldk fuEu izdkj rkih; vi?kVu gks tkrk 

gS rFkk 112g pwuk vkSj dkcZu MkbZ vkWDlkbZM 

xSl dh vKkr ek=k izkIr gksrh gS :- 

CaCo3           Cao + Co2 

        200g                 112g    ? 

(1) 88g               (2) 24g           

(3) 64g               (4) 40g 

35. rRo x vkWDlhtu ds lkFk ik¡p LFkk;h vkWDlkbM 

cukrk gSA ftudk lw= x2o, xo, x2o3, x2o4, 

x2o5 gSA bu vkWDlkbMksa dk fuekZ.k Li"V djrk 

gSA 

(1) fuf’pr vuqikr dk fu;e    

(2) vkaf’kd nkc dk fu;e         

(3) xqf.kr dk fu;e            

(4) O;qRØe vuqikr dk fu;e 

36. 0.00186 dks oSKkfud ladsru ds lkFk rhu 

lkFkZd esa fdl izdkj fy[kk tk ldrk gS :- 

(1) 1.86 x 10
-3

            (2) 186.0 x 10
-5

       

(3) 18.6 x 10
-4

            (4) 1.860 x 10
-3

 

37. 28g N2 vkSj 6g H2 dh fØ;k ij 34g NH3 

izkIr gksrh gS ;g dFku fdl fu;e dks n’kkZrk 

gSA 

(1) nzO;eku laj{k.k         

(2) fLFkj vuqikr 

(3) xqf.kr vuqikr           

(4) O;qrØe vuqikr 
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38. The number of significant figures in 

2.653 x 10
4
 is :- 

(1) 8        (2) 4         (3) 6          (4) 1 

39. Given the numbers 161 cm, 0.161 cm, 

0.0161 cm. The number of significant 

figures for the three numbers is :- 

(1) 3, 3, 4               (2) 3, 4, 4     

(3) 3, 4, 5               (4) 3, 3, 3 

40. Which of the following statements is/are 

true ? 

(1) An element of a substance contains 

only        

(2) A compound can be decomposed 

into its components   

(3) All homogeneous mixtures are 

called as solutions.  

(4) All of these 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

38. 2.653 x 10
4
  esa lkFkZd vadksa dh la[;k gS :- 

(1) 8        (2) 4         (3) 6          (4) 1 

39. la[;k,sa 161 cm, 0.161 cm, 0.0161 cm nh 

x;h gSA rhuksa la[;kvksa ds fy;s lkFkZd vadksa dh 

la[;k Øe’k% gS %& 

(1) 3, 3, 4                 (2) 3, 4, 4     

(3) 3, 4, 5                 (4) 3, 3, 3 

40. fuEu esa ls dkSulk dFku lgh gS \ 

(1) rRo os inkFkZ gS ftuesa ,d gh izdkj ds 

ijek.kq gksrs gSaA 

(2) ;kSfxd dk buds ?kVdksa esa vi?kfVr dj 

ldrs gSaA 

(3) lHkh lekaxh feJ.k foy;u dgykrs gSaA 

(4) mijksDr lHkh 
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Part – III (BIOLOGY) 

41. The primary dentition in human beings 

from permanent dentition in not having 

one of the following type of  teeth ? 

(1) Incisors         (2) Canine    

(3) Premolors     (4) Molors 

42. Fructoje is absorbed into the blood 

through mucosa cells of Intestine by the 

process called ? 

(1)Active transport          

(2) Facillated          

(3) Simple diffusion        

(4) Co – transport mechanism 

43. Two friends are eating together on a 

dining table one of them suddenly starts 

coughing would have been due to 

improper movement of :- 

(1) Tongue             (2) Epiglottis    

(3) Diaphragm       (4) Neck 

44. The optimum value PH for the action of 

ptylin is :- 

(1) 1.8      (2) 6.8       (3) 7.8        (4) 9.8 

45. Which cells of ‘Crypts of leberkuhn 

secretes antibacterial lysozyme ? 

(1) Argentaffin cells     (2) Paneth cells      

(3) Zymogen Cells       (4) Kupffer cells 

 

 

 

 

 

 

 

 

 

 

41. Ekuo ds LFkk;h esa ls dkSuls nk¡r izkFkfed nUr 

foU;kl esa vuqifLFkr gS \ 

(1) d̀rnud          (2) jnud    

(3) vxzpo.kZd        (4) po.kZd 

 

42. jDr esa ÝDVkst dk vo’kks"k.k vk¡r dh E;qdl 

dksf’kdk ls fdl fof/k ds }kjk gksrk gS \ 

(1) lfØ; ifjogu          

(2) lqlk/; ifjogu 

(3) ljy folj.k           

(4) lg & ifjogu fØ;kfof/k 

 

43. nks fe= lkFk esa cSBdj [kkuk [kkrs gSa] muesa ls 

,d dks vpkud ls [kk¡lh vk tkrh gS ;g fdl 

Hkkx ds vlkekU; xfr djus ds dkj.k gksrk gS %& 

(1) thHk               (2) ,fiXyksfVl    

(3) Mk;Ýke           (4) xnZu 

44. Vkbfyu ,Utkbe ,d fuf’pr PH dk eku 

crkb, %& 

(1) 1.8     (2) 6.8      (3) 7.8     (4) 9.8 

45. dkSulh dksf’kdk ds }kjk ‘Crypts of 

leberkuhn’ (yhojdqat izxqfgdk) dk L=ko 

fd;k tkrk gSA 

(1) vtsZUVsfQu dksf’kdk    (2) ihus; dksf’kdk 

(3) tkbekstu dksf’kdk     (4) dqQ~Qj dksf’kdk 
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46. Which of the following option best 

represents the enzyme composition of 

pancreatic juice ? 

(1) Amylase, peptidase, trypsinogen, 

rennin    

(2) Amylase, pepsin, typsinogen, mattase         

(3) Peptidase, amylase, pepsin, rennin       

(4) Lipase, amylase, trypsinogen, 

Procarboxy peptidase 

47. Carrier ions like Na
+
 Facillated the 

absorption of substances like ? 

(1) Fructose & some amino acid    

(2) Amino acid & glucose    

(3) Glucose & fatty acid       

(4) fatty acid & glycose 

48. If liver is removed, the compound which 

is not absorbed by mucosa of intestine. 

(1) Proteins           (2) Carbohydrates     

(3) fats                  (4) lactose 

49. Sphincter of oddi guards :- 

(1) Hepto – pancreatic duct     

(2) Common bile duct  

(3) Pancreatic duet                  

(4) Cystic duct 

50. Where do certain symbiotic micro – 

organisms normally occurs in human 

body ? 

(1) Duodenum                   

(2) Caecum 

(3) Oral lining & tongue surface       

(4) Vermiform appendix & rectum. 

 

 

 

 

 

46. fuEufyf[kr esa dkSulk leqg vXuk’;h jl ds 

laxBu dks iznf’kZr djrk gS \ 

(1) ,ekbyst] isIVkbMst] fVªfIlukstu] jsfuu 

(2) ,ekbyst] isfIlu] fVªfIlukstu] ekYVkst 

(3) isIVkbMst] ,ekbyst] isfIlu] jsfuu 

(4) ykbist] ,ekbyst] fVªfIlukstu] izksdkcksZDlh 

isIVkbMst 

 

47. okgd vkW;u tSls Na
+
 dk lqlk/; ifjogu esa 

fdudk vo’kks"k.k gksrk gS \ 

(1) ÝDVkst o dqN vehuks vEy 

(2) Xyqdkst o olh; vEy 

(3) Xyqdkst o ,ehuks vEy 

(4) olh; vEy o fXyljky 

 

48. ;fn ;dr̀ gVk fn;k tk, rks dkSulk ?kVd vk¡r 

ds 'ys"kek }kjk vo’kksf"kr ugha gksrk gS \ 

(1) izksfVUl          (2) dkcksZgkbMªsVl    

(3) olk              (4) ysDVkst 

49. vksMh vojks/kuh fdldks lqjf{kr j[krh gS %& 

(1) ;dr̀ & vX;kuk’k;h okfguh     

(2) lkekU; fir okfguh 

(3) vXuk’; okfguh                     

(4) firk’k; okfguh 

50. ekuo 'kjhj esa fdl fuf’pr LFkku ij lgthoh 

lw{ethoh ik, tkrs gSa \ 

(1) x`g.kh             

(2) lhde 

(3) thHk dh lrg      

(4) d̀fe :i vos’ksf"kdk o eyk’k; 
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51. Duct of Gall bladder is called :- 

(1) Hepatic duct    (2) Common bile duct 

(3) Cyst duct       (4) rtenson’s duct 

52. Stomach has 4 major position in which 

portion of stomach does the oesophagous 

open ? 

(1) Fundic             (2) Pyloric     

(3) Cardiac            (4) body 

53. When each tooth is ambedded in a socket 

of jaw bone, then this type of attached is 

called :- 

(1) Thecodent        (2) Lophodont          

(3) Secodont          (4) Sotendont 

54. Jaundice is a disorder of :- 

 (1) Respiratory system  

(2) Digestive system           

(3) Skin                                

(4) Eye 

55. A person who is on a long hunger strike 

& is surviving only on water will have :- 

(1) Loss urea in his wine 

(2) More sodium in his wine 

(3) Less aminoacid in his urine 

(4) More glucose in his blood 

56. Brunner’s glands are present in :- 

(1) Stomach                   (2) Oesophagous     

(3) Illeum                       (4) Duodenum 

 

 

 

 

 

 

 

 

 

51. firk’k; dh okfguh D;k dgykrh gS \ 

(1) ;dr̀ okfguh      (2) lkekU; fir okfguh 

(3) firk’k; okfguh    (4) LVsulu okfguh 

52. vek’; ds eq[;r% 4 Hkkx gksrs gS] buesa ls dkSuls 

Hkkx esa xzfldk vkdj [kqyrh gS \ 

(1) QfUMd              (2) ikbyksfjd     

(3) dkfMZ;d            (4) 'kjhj 

53. tc izR;sd nk¡r tcMs ds xrZ esa O;ofLFkr gksrk 

gS] rks bl izdkj ds laca/k dks D;k dgrs gSa \ 

(1) xrZnUrh             (2) fo"kenUrh    

(3) yksQksMkUV           (4) lksysuksMkUV 

54. fify;k fodkj fdlls lacaf/kr gS %& 

(1) 'olu ra=         

(2) ikpu ra=   

(3) rOpk              

(4) vk¡[k 

55. ,d O;fDr tks dkQh yEcs le; ls Hkw[k gMrky 

ij gS vkSj og dsoy ikuh ij thfor gS mlds 

lkFk D;k gks ldrk gS & 

(1) mlds ew= esa ;wfj;k dh ek=k de gks tk;sxh 

(2) mlds ew= esa Na
+
 dh ek=k c< tk;sxh 

(3) mlds ew= esa vehuksa vEyksa dh ek=k de 

gksxh 

(4) jDr esa Xyqdkst dh ek=k esa o`f) 

56. Ckzquj xzfUFk;k¡ fLFkr gksrh gS & 

(1) vek’;            (2) xzfldk    

(3) bfy;e           (4) x`g.kh 
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57. Stool of a person is whitish grey coloured 

due to malfunction of which of the 

following organ ? 

(1) Pancrease          (2) Spleen    

(3) Kidney              (4) liver 

58. Which one of the following is a protein 

deficiency disease ? 

(1) Kwashiorlor        (2) Night blindness          

(3) Eczema               (4) Cirshosis 

59. Constipation can be prevented or 

removed by ? 

(1) Talking more roughage     

(2) Taking purgatives     

(3) Taking distilled water       

(4) Both 1 and 2 

60. Choose the correct enzyme substrate pair 

? 

(1) Lipase (Carbohydrate)        

(2) Maltase (Lactose)  

(3) Rennin (Casein)                  

(4) Amylase (Protein) 

57. ;fn fo.Bk ¼ey½ dk jax lQsn gks tkrk gS rks 

gekjs dkSuls vax dk Bhd ls dk;Z ugha djus dk 

y{k.k gS \ 

(1) vxuk’;   

(2) Iyhgk   

(3) o`Dd   

(4) ;dr̀ 

58. buesa ls dkSulh izksVhu dh deh ls gksus okyh 

chekjh gS \ 

(1) Dok’khvkjdksj         (2) jrksa/kh 

(3) ,fDtek                (4) dkbjksfll 

59. dCt dh leL;k dks dSls nwj fd;k tk ldrk gS 

\ 

(1) :{kk’k dh ek=k esa o`f) djds     

(2) mg
+
 yo.k dh ek=k esa o`f) djds 

(3) vklqr ty ysdj       

(4) nksuks 1 & 2 

60. lgh ,atkbe & fØ;kdkjd dk p;u fdft, \ 

(1) ykbist & dkcksZgkbMªsV     

(2) ekYVkst & ySDVkst 

(3) jsfuu & dSlhu                

(4) ,ekbyst & izksVhu 
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Question 1 2 3 4 5 6 7 8 9 10 

Answer 3 4 3 2 4 2 1 1 2 2 
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